1. The charge/ mass ratio of electran:

a. Depends on the nature of the electrodes

b. Depends upon nature of the gas ¢. Remains constant

d. Depends on both nature of the gas and nature of the electrode

2. A student weighs 30kg. Supp his body is entirely made of elect: How any electrons are there in his body? Mass of an electron= 9.1X10 kg
a. 329 103!

b. 3.29 X103

¢ 329 X108

d. 3.29 1072

3. Which of the following is correct?
CTolumn 1 Column2

A, Electrons i. Positive charge

B. Protons ii. Noe charge

. Neutrons mi. Negative charge

4. If K, L, M, N shells of an atom are full, the total number of electrons in the atom are:
2 50b. 26424, 36

5. Which of the following are positively charged ions:

Atoms Pratons Electrons MNeutrons
A 7 17 18
B 12 10 12
C 16 17 20
3] 1 a [
E 18 18 22
F 0 10 10
aAandB
b.Cand D
cBand D
d.D and F
€. The electronic configuration of CI{17) Is:
a, 28.7
02285
¢ 2B.25
d2258
7. Composition of the nuclei of two atomic species are given:
X Y
L 7 8
N s 8

The mass number of x and ¥ and their relation is
a. 16 16; isotopes
b. 17,15; isotopes
<. 17.15: isotopes
d. 16,18; lsobars

8. Na~ has 12 neutrons and 10 electrons. Which of the following statements is correct?
a. Na™ has atomic number 10 and mass number 22,
b. Na® has atemic number 11 and mass number 23.
. MNa™ has atomic number 10 and mazss number 23,
d. Na™ has atemic number 11 and mass number 22,

9. Which of the following is about p ?
a It i the nudleus of deuterium

b It is an ionized hydrogen molecule

< It is an ionized Hydrogen atom

d. It is an & particle with unit positive charge

10, The highest value of &/m ratie for ancode rays is ocbserved when the discharge tube is filled with:
a NzbB Hzc Hed Ar

11. When a gold foil is bombarded by a beam of a particle, only a few of them get deflected whereas most go straight cted. This is b
a, The force of attraction exerted on a particles by the electrons is insuificlent

b. The volume of nucleus is much smalier than that of the atom

. The force of repulsion acting on the fast moving a partickes s very small

d. The neutrons have no effect on o particles

12. Which ef the following statemenis does not belong to Boehr's model?

a. Energy of the electrons in the orbit is quantized

B. Tha alectrons in the orbit nearest 1o the nucleus is the lowest anergy

= Electrons revolve around the nucleus in different orkits having fixed energies

d. The electrons radiate energy durnng revolution due to force of attraction between nucleus and electrons

13. Hew many electrons, pratons and neutrens are present in X*_if atemic number of X is 19 and its mass number is 39
a, E=19. F=1% N= 20
b E=18, P=15 N= 20

d. E=19. P=20 N= 20

14. Which of the following does not have B vaience electrons:
a Heb Nec Ard. CIF

15. Which of the following does not have one electron in itz valance shell
aNablic.Hd. Ca
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